o DY O PO I Fh o HEOREOIER

ZET HIC5: 207
1 1 1 1 1
10(= +=)+2x2—48= 20(= + =)+ - =
05 +3)+2x2-48 05+ 2)75%57
3 1 (33-23)x3-23=
—_— = ><5__: . . .
573) 2

24— 4(3+3.6) = 314 yxa_ Lo
G1+3) 2
11 2 3
S 4 Z)x3-55= 1027 - 2)=5x2+2 =
(373~ @7=3)53x2% 4
1 1
S4+3(; -2.5)= (53+3)x3-53=

www.snowmath.com


https://www.snowmath.com

o DY O PO I Fh o HEOREOIER

&R B(C5: AA7:
11 8 11 1 55 3
10(2 +2)+2x2—48= " 2002 +2)=5x5— ~ =2 — 132
(3T3)72x 15 (373)73x3- 3= 7 =133
3 1 7
LAV S 3-23)x3-23=__
(5-5)%5-5=(9 (33-23)x3-23=
24— 4(3+3.6) = (—24) (3.1+§)x4_1:£:143
5 21 10
11 2 319 19
L I yx3-55=(=3 10027 = S)+5x24 2= 2 —9g—
G*3)x (=3) @7=3) 3% 2% 7= 55 = 9%
1 1 I I 58 3
A+ 3(2—25)= (——) = (—1— 34+ 2)x3-53=2-112
5 3(3 5)=( 10) ( 10) (5.3 3)X3 5.3 5 5

www.snowmath.com


https://www.snowmath.com

